
Expanding Double Brackets 

1. ሺ𝑥 +  ͵ሻሺ𝑥 +  Ͷሻ  = 

2. ሺ𝑥 +  ͵ሻሺ𝑥 +  ͷሻ  = 

3. ሺ𝑥 +  ͷሻሺ𝑥 +  ͷሻ = 

4. ሺ𝑥 +  ͷሻሺ𝑥 −  ͷሻ  = 

5. ሺ𝑥 +  ͹ሻሺ𝑥 −  ͷሻ  = 

6. ሺ𝑥 −  ͹ሻሺ𝑥 −  ͷሻ  = 

7. ሺ𝑥 −  ͹ሻሺ𝑥 −  ͹ሻ  = 

8. ሺ𝑥 −  ͹ሻሺ𝑥 +  ͹ሻ  = 

9. ሺʹ𝑥 −  ͹ሻሺ𝑥 +  ͹ሻ  = 

10. ሺʹ𝑥 −  ͹ሻሺ𝑥 +  ͸ሻ = 

11. ሺʹ𝑥 −  ͹ሻሺ𝑥 −  ͸ሻ  = 

12. ሺʹ𝑥 −  ͹ሻሺʹ𝑥 −  ͸ሻ  = 

13. ሺʹ𝑥 −  ͸ሻሺʹ𝑥 −  ͸ሻ  = 

14. ሺ͵𝑥 −  ͸ሻሺʹ𝑥 −  ͸ሻ  = 

15. ሺ͵𝑥 −  ͸ሻሺʹ𝑥 +  ͸ሻ  = 

16. ሺ͵𝑥 −  ͸ሻሺʹ𝑥 +  ͺሻ  = 

17. ሺ͵𝑥 −  ͸ሻሺ͵𝑥 +  ͺሻ  = 

18. ሺ͵𝑥 +  ͸ሻሺ͵𝑥 +  ͺሻ  = 

19. ሺ͵𝑥 +  ͺሻሺ͵𝑥 +  ͺሻ  = 

20. ሺ͵𝑥 +  ͺሻሺ͵𝑥 −  ͺሻ  = 
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Expanding Double Brackets – ANSWERS 

1. 𝑥2 + ͹𝑥 + ͳʹ 

2. 𝑥2 + ͺ𝑥 + ͳͷ 

3. 𝑥2 + ͳͲ𝑥 + ʹͷ 

4. 𝑥2 − ʹͷ 

5. 𝑥2 + ʹ𝑥 − ͵ͷ 

6. 𝑥2 − ͳʹ𝑥 + ͵ͷ 

7. 𝑥2 − ͳͶ𝑥 + Ͷͻ 

8. 𝑥2 − Ͷͻ 

9. ʹ𝑥2 + ͹𝑥 − Ͷͻ 

10. ʹ𝑥2 + ͷ𝑥 − Ͷʹ 

11. ʹ𝑥2 − ͳͻ𝑥 + Ͷʹ 

12. Ͷ𝑥2 − ʹ͸𝑥 + Ͷʹ 

13. Ͷ𝑥2 − ʹͶ𝑥 + ͵͸ 

14. ͸𝑥2 − ͵Ͳ𝑥 − ͵͸ 

15. ͸𝑥2 + ͸𝑥 − ͵͸ 

16. ͸𝑥2 + ͳʹ𝑥 − Ͷͺ 

17. ͻ𝑥2 + ͸𝑥 − Ͷͺ 

18. ͻ𝑥2 + Ͷʹ𝑥 + Ͷͺ 

19. ͻ𝑥2 + Ͷͺ𝑥 + ͸Ͷ 

20. ͻ𝑥2 − ͸Ͷ 
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20. ͻ𝑥2 − ͸
 


